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! homogeneous 
(bimolecular) dS = s i n  8 d e d 6 dx dy dz R2 dSint (352 

homogeneous 
(unimol.eculaA dS = s i n  8 d 0 d 6 dx dy dz dSint 

(heterogeneous) dS = dx dy dSint 

(36,: 

where 8 and 6 define a body-fixed axis of the  complex,R i s  the dis- 

tance of two atomsor any two pointsof the  complex on t h i s  zx i s ,  2nd 

x, y, x have been defined e a r l i e r .  

(35) the  two atoms o r  po in ts  are constrained so th8.t one i s  f i x e d  

I n  t he  computation of' dSint i n  

on the  c i t e d  body-fixed a.xis and the o ther  can move only a.long that 

axis. The two points can be the  centers  of mass of each r eac t an t ,  f o r  example 

(Appendix 11). 

t he  complex is  constrained t o  move along any f ixed  line norrnnl t o  t h c  

I n  the  compution of t he  dSint of (37) one w i n t  of 

.J 1 l i , r l C '  , I < $ '  .. 
to 
*the so l id- l iqu id  in t e r f ace .  This po in t  c m  be the  center  of mass 

of t he  r eac t an t .  

Similarly, the  volume element dV i n  (33) can be shown t o  

be the product of volume elements rT dx dy da f o r  the external co- 

ordinates  of all reac tan ts  g and of dVint, t he  volume element of all re- 

maing coordinates. (There is only one term i n  < when the react ion is 

unirnolecular, of courae. 

a s a d  

These remaining coordinates are cordinates i n  

a space where t h e  center  of mass of each reac tan t  is f ixed and where 

the  reactants  a r e  far apart .  

Integrat ion may now be performed over the external  coordinates 


